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1 A=&IA 0 0 0% 0 0
2 14,606 14,656 100% 14,506 101%]
IE=E 12,000 12,050 100% 12,000 100%
] 6 6 100% 6 100%
EHhoB 2 600 2 600 100% 2.500 104%]
3IFENA (NEETE) 33,100 31,253 94% 36,067 87%
TH A HHES 5 4,500 4,622 103% 4,807 06%
S hHES SRR 6.800 4,689 69% 6.833 69%
[EREZ R 16,200 13.939 86% 16,739 83%
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A EERTEZER 1,600 2,143 134% 1,099 195%
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T S— A IR FERA 2,500 3,040 122% 3,975 76%
WBRENEEIT—FFERA 0 128 5,240 2%
RS ZEIFEZ A 0 0 0% 1,141 0%
FNEESREESS LXERTS 17,240 14,474 84% 12,741 114%
£ 1.500 1,703 114% 1.452 117%
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HHENHERT RS 9,146 6,877 75% 8,590 80%

BB EHBRERE 900 1,092 121% 1,694 64%
HREERERRE 650 724 111% 1,877 39%
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EBRIEERE 1,650 2,025 123% 1,770 114%

X RETEESE 13,830 9,844 71% 11,052 89%
Wl o= AR 2,000 1,984 99% 2,560 78%
P\ ERENLERT -2 RN 0 684 ~684% 4,507 15%
"l (P RREEST FXEH 17,240 14,781 86% 13,373 111%
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